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ROBE MO &,
1) y=-2

4) y=—2x3+6x"+4x

(7)) y=(x—-1)3—2x)

RO = WoHE &,
1) y=(x—=2)0(x*+1)
3) y=(x*—2x+3)*

(2) y=—3x%+6x—5

(5) y=2x'—4x%+3 (6) y:_l 5

8) y=(x+3)° 9) y=(2x—3)°

2) y=(2x-1)
4) y=(4x—3)%2x+3)

(3) y=x°—542—6
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ROBEIZONT, 52 5B REERD X,
1) flx)==32"+2x+4, f/(0) @ flx)=2—42+3, £/(1)
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1) y=2t> () (2)
@) s=h+vit—at® (1) (5)

S=xnrt (7 (3)
t=kla+bx)c—dx) (x)

V=Vi1+8t) (1)

<ME+aDFBN >

ROBIEHSE L.
1) y=x*3x—1
@ y=(x'—x+1)?

2) y=(x—=1)(x2+x—4)
5) y=(x—2x)

3) y=(x+2)°
6) y=0Bx+24x+1)



